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Do Now: Ms. Loughran
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Continuing from yesterday...

4. Find the coordinates of the center, foci, and vertices, and the equations of the
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=1. Then graph the hyperbola.
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5. Find the coordinates of the center, foci, and vertices, and the equations of the
asymptotes of the graph of 25)° —9x* =100y —72x—269 = 0.. Then graph the

hyperbola. )
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6. Find the coor the center, f001 and vertices, and the equations of the
asymptotes of the graph of 4x* —y* + 24x+ 4y +28=0. Then graph the hyperbola.
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Homework 03-22 / Classwork 03-23

Identify the vertices, foci, and direction of opening of each.
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81 4 121 81
Vertices: (9, 0), (-9, Vertices: (11, 0), (11,0
Foci: (\/85, 0), (= 85, 0) Foci: (202, 0), (v/202, 0)
Opens left/right Opens left/right
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Vertices: (0, 5), (0, -5) Vertices: (11, 0), (~11, 0
Foci: (0,4/41), (0, ~/41) Foci: (157, 0), (V/157, 0)
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Identify the vertices and foci of each. Then sketch the graph.
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